DESCRIPTION

69-120-2S CLUTCH COVER, 246mm TWIN DISC CLUTCH

2 69-125 DRIVE STRAP, 246mm TWIN DISC CLUTCH 18
3 69-119S FLOATER PLATE, 246mm TWIN DISC CLUTCH

4 69-118UHR PRESSURE PLATE, 246mm TWIN DISC CLUTCH

S 64246-5-5-36 DISC, FRICTION, ASSEMBLY, 246MM, NO MARCEL

o NAS6205-5 BOLT, AIRCRAFT, 5/16-24 X .75 6
7 AN960-516 WASHERFLATAIRCRAFT,FOR 5/16 BOLT 12
8 MS21042-5 THIN LOCK NUT 5/16-24 12
9 ANS-7A HEX BOLT, AIRCRAFT, 5/16-24X.969 3
10 ANS-6A HEX BOLT, AIRCRAFT, 5/16-24X.844 3
| AN960O-516L WASHERFLATAIRCRAFT, THIN, FOR 5/16 BOLT I
12 AN960-416 ANOG0-416 /4" WASHER 8
13 MS21042-4 LOCK NUT, KAYNAR, 1/4-28 UNF 8
|4 1/14-28 X 1.125 FHCS ZP BOLT, 1/4-28 X 1.125L, FHCS, ZP 8
15 69-102 PIVOT WIRE, 246mm TWIN DISC CLUTCH 2
16 69-101G DIAPHRAGM SPRING, 246mm TWIN DISC CLUTCH

|7 69-103 SLEEVE, FLANGE HEAD, 1/4 ID 8

64246-5M-5-36

DISC, FRICTION, ASSEMBLY, 246MM, WITH MARCEL




